



ISSN:0976-4933
Journal of Progressive Science
Vol.04, No.01, pp 7-14 (2013)

Finsler spaces with special (α, β) metric of Douglas type

B. N. Prasad² and Bindu Kumari

Department of Mathematics, St. Andrews College Gorakhpur, (U. P.), India

Department of Mathematics, D. A. V. Post Graduate College Gorakhpur, (U. P.), India

E. Mail: bindukumari609@yahoo.co.in

Abstract

The notion of Douglas space has been introduced by M. Matsumoto and S. Basco [3], [7] as a generalization of Berwald space from the viewpoint of geodesic equations. It is remarkable that a Finsler space is a Douglas space or is of Douglas type if and only if the Douglas tensor vanishes identically. The present paper is devoted to studying the conditions for some Finsler spaces with (α, β) -metric to be of Douglas type. The theories of Finsler spaces with (α, β) -metric have contributed to the development of Finsler geometry and Berwald spaces with (α, β) -metric have been treated by some authors. Since a Berwald space is a kind of Douglas space, the most noteworthy point of the present paper is to observe that, comparing with the conditions of Berwald space, to what extent the condition of Douglas space relaxes.

Keywords- (α, β) -metric, Douglas space

Mathematics Subject Classification 2000: 53B20, 53B28, 53B40, 53B18.

1. Preliminaries

Let $\alpha(x, y)$ and $\beta(x, y)$ be a Riemannian metric $\alpha = \sqrt{a_{ij}(x)y^i y^j}$ and a differentiable one-form $\beta = b_i(x) y^i$ in an n -dimensional differentiable manifold M^n . If a Finsler fundamental function in M^n is a function $L(\alpha, \beta)$ of α and β which is positively homogenous of degree one, then the structure $F^n = (M^n, L(\alpha, \beta))$ is called a Finsler space with (α, β) -metric (Matsumoto, 1992). The space $R^n = (M^n, \alpha)$ is called a Riemannian space associated with F^n (Bacso and Matsumoto, 1997). In R^n , we have the Christoffel symbols $\gamma_{jk}^i(x)$ and the covariant differentiation ∇ with respect to $\gamma_{jk}^i(x)$. We shall use the symbols as follows:

$$r_{ij} = \frac{1}{2}(\nabla_j b_i + \nabla_i b_j), \quad s_{ij} = \frac{1}{2}(\nabla_j b_i - \nabla_i b_j), \quad s^i_j = a^{ir} s_{rj}, \quad s_j = b_r s^r_j.$$

² C-10, Surajkund Colony, Gorakhpur, (U. P.), E. mail: baijnath_prasad2000@yahoo.co.in

It is to be noted that $s_{ij} = \frac{1}{2}(\partial_j b_i - \partial_i b_j)$. Throughout the paper the symbols ∂_j and $\dot{\partial}_j$ stand for

$\frac{\partial}{\partial x^j}$ and $\frac{\partial}{\partial y^j}$ respectively. We are concerned with the Berwald connection $B\Gamma = (G_{jk}^i, G_j^i)$ which

is given by

$$2G^i(x, y) = g^{ij}(y^r \partial_j \partial_r F - \partial_j F), \text{ where } F = L^2/2, G_j^i = \dot{\partial}_j G^i \text{ and } G_{jk}^i = \dot{\partial}_k G_j^i.$$

The Finsler space F^n is said to be of Douglas type or called a Douglas space (Bacso and Matsumoto, 1997) if $D^{ij} = G^i(x, y)y^j - G^j(x, y)y^i$ are homogeneous polynomial in y^i of degree three. It has been shown that F^n is of Douglas type if and only if Douglas tensor

$$D_{ijk}^h = G_{ijk}^h - \frac{1}{n-1}(G_{ijk} y^h + G_{ij} \delta_k^h + G_{jk} \delta_i^h + G_{ki} \delta_j^h),$$

vanishes identically, where $G_{ijk}^h = \dot{\partial}_k G_{ij}^h$ is the hv-curvature tensor of Berwald connection $B\Gamma$, $G_{ij} = G_{ij}^r$ and $G_{ijk} = \dot{\partial}_k G_{ij}$ [2].

Now we consider the function $G^i(x, y)$ of F^n with (α, β) -metric. According to Kitayama *et al.* 1995; Matsumoto, 1999) they are written in the form

$$2G^i = \gamma_{00}^i + 2B^i, \quad B^i = \frac{E}{\alpha} y^i + \frac{\alpha L_\beta}{L_\alpha} s_0^i - \frac{\alpha L_{\alpha\alpha}}{L_\alpha} C * \left(\frac{y^i}{\alpha} - \frac{\alpha}{\beta} b^i \right), \quad (1.1)$$

where we put,

$$E = \frac{\beta L_\beta}{L} C *, \quad C * = \frac{\alpha\beta(r_{00} L_\alpha - 2\alpha s_0 L_\beta)}{2(\beta^2 L_\alpha + \alpha r^2 L_{\alpha\alpha})}, \quad b^i = a^{ij} b_j, \quad r^2 = b^2 \alpha^2 - \beta^2, \quad (1.2)$$

$b^2 = a^{ij} b_i b_j$ and the subscript α and β in L denote the partial differentiation with respect to α and β respectively. Since $\gamma_{00}^i = \gamma_{jk}^i(x)y^j y^k$ is homogenous polynomial in (y^i) of degree two, we have (Matsumoto, 1998).

Proposition (1.1). A Finsler space F^n with (α, β) -metric is a Douglas space if and only if $B^{ij} = B^i y^j - B^j y^i$ are homogeneous polynomials in (y^i) of degree three.

Equation (1.1) gives

$$B^{ij} = \frac{\alpha L_\beta}{L_\alpha} (s_0^i y^j - s_0^j y^i) + \frac{\alpha^2 L_{\alpha\alpha}}{\beta L_\alpha} C * (b^i y^j - b^j y^i). \quad (1.3)$$

Here we state the following lemma for the latter frequent use (Hashiguchi *et al.*, 1996).

Lemma. If $\alpha^2 \equiv 0 \pmod{\beta}$, i.e. $a_{ij}(x)y^i y^j$ contains $b_i(x)y^i$ as a factor, then the dimension is equal to two and b^2 vanishes. In this case we have $\delta = d_i(x)y^i$ satisfying $\alpha^2 = \beta \delta$ and $d_i b^i = 2$.

Through out the paper, we shall say “homogeneous polynomial (s) in (y^i) of degree r ” as $hp(r)$ for brevity. Thus γ_{00}^i are $hp(2)$ and if the space is of Douglas type then D^{ij} and B^{ij} are $hp(3)$. Also we have assumed that $\alpha^2 \not\equiv 0 \pmod{\beta}$, through out the paper.

2. Special (α, β) metric

We shall apply the proposition (1.1) to the (α, β) -metric

$$L = \frac{b_1 \alpha^2 + b_2 \alpha \beta + b_3 \beta^2}{a_1 \alpha + a_2 \beta}$$

where a's and b's are constants. It is obvious that by homothetic change of α and β this kind of metric may be classified as follows:

$$a_1 \neq 0, a_2 = 0, \text{ we have the Randers metric } L = \alpha + \beta \text{ and } L = c_1 \alpha + c_2 \beta + \frac{\beta^2}{\alpha}. \quad (\text{I})$$

$$a_1 = 0, a_2 \neq 0, \text{ we have the Randers metric } L = \alpha + \beta \text{ and} \quad (\text{II})$$

$$L = c_1 \alpha + c_2 \beta + \frac{\alpha^2}{\beta}. \quad (2.2)$$

$$a_1 a_2 \neq 0, \text{ we have (III)}$$

$$L = \frac{c_1 \alpha^2 + c_2 \alpha \beta + c_3 \beta^2}{\alpha + \beta}. \quad (2.3)$$

As for Randers metric we have (Aikou, *et al.*, 1990)

Theorem (2.1) A Randers space is of Douglas type, if and only if $s_{ij} = 0$. Then $2G^i = \gamma_{00}^i + \frac{r_{00} y^i}{L}$

We shall discuss the conditions for F^n with metrics (2.1), (2.2) and (2.3) to be of Douglas type in the following three articles.

3. Finsler space with metric (2.1)

For the metric (2.1), we have

$$L_\alpha = \frac{c_1 \alpha^2 - \beta^2}{\alpha^2}, \quad L_\beta = \frac{c_2 \alpha + 2\beta}{\alpha}, \quad L_{\alpha\alpha} = \frac{2\beta^2}{\alpha^3}.$$

Therefore the value of C^* given in (1.2) becomes

$$C^* = \frac{\alpha}{2\beta} \left[\frac{r_{00} (c_1 \alpha^2 - \beta^2) - 2s_0 (c_2 \alpha + 2\beta) \alpha^2}{(c_1 + 2b^2) \alpha^2 - 3\beta^2} \right].$$

Also from (1.3), we have

$$B^{ij} = \frac{\alpha^2 (c_2 \alpha + 2\beta)}{c_1 \alpha^2 - \beta^2} (s_0^i y^j - s_0^j y^i) + \frac{\alpha^2}{c_1 \alpha^2 - \beta^2} \left[\frac{r_{00} (c_1 \alpha^2 - \beta^2) - 2s_0 (c_2 \alpha + 2\beta) \alpha^2}{(c_1 + 2b^2) \alpha^2 - 3\beta^2} \right] (b^i y^j - b^j y^i), \quad (3.1)$$

which may be written as

$$(c_1 \alpha^2 - \beta^2) [(c_1 + 2b^2) \alpha^2 - 3\beta^2] B^{ij} - \alpha^2 [c_2 (c_1 + 2b^2) \alpha^3 + 2(c_1 + 2b^2) \alpha^2 \beta - 3c_2 \alpha \beta^2 - 6\beta^3] (s_0^i y^j - s_0^j y^i) - \alpha^2 [r_{00} (c_1 \alpha^2 - \beta^2) - 2s_0 \alpha^2 (c_2 \alpha + 2\beta)] (b^i y^j - b^j y^i) = 0. \quad (3.2)$$

Since α is irrational in (y^i) , the equations (3.2) are divided into two equations as follows:

$$(c_1 \alpha^2 - \beta^2) [(c_1 + 2b^2) \alpha^2 - 3\beta^2] B^{ij} - 2\alpha^2 [(c_1 + 2b^2) \alpha^2 \beta - 3\beta^3] (s_0^i y^j - s_0^j y^i)$$

$$-\alpha^2 [r_{00} (c_1 \alpha^2 - \beta^2) - 4s_0 \alpha^2 \beta] (b^i y^j - b^j y^i) = 0, \quad (3.3)$$

$$[(c_1 + 2b^2) \alpha^2 - 3\beta^2] (s_0^i y^j - s_0^j y^i) - 2s_0 \alpha^2 (b^i y^j - b^j y^i) = 0. \quad (3.4)$$

Equation (3.4) may be written as

$$[(c_1 + 2b^2) \alpha^2 - 3\beta^2] (s_h^i \delta_k^j + s_k^i \delta_h^j - s_h^j \delta_k^i - s_k^j \delta_h^i) - 2\alpha^2 [s_h \delta_k^j + s_k \delta_h^j] b^i - (s_h \delta_k^i + s_k \delta_h^i) b^j = 0. \quad (3.5)$$

Contracting (3.5) with a^{hk} , we get

$$2[(c_1 + 2b^2) \alpha^2 - 3\beta^2] s^{ij} - \alpha^2 (b^i s^j - b^j s^i) = 0. \quad (3.6)$$

Contracting (3.5) with b^h , we get

$$[(c_1 + 2b^2) \alpha^2 - 3\beta^2] (b^j s_k^i - s^i \delta_k^i + s^j \delta_k^i - b^i s_k^j) = 0.$$

Contracting it again by $j = k$, we get

$$n[(c_1 + 2b^2) \alpha^2 - 3\beta^2] s^i = 0. \quad (3.7)$$

Since $\alpha^2 \not\equiv 0 \pmod{\beta}$ we have $n[(c_1 + 2b^2) \alpha^2 - 3\beta^2] \neq 0$. Hence from (3.7) we have $s^i = 0$ and

consequently (3.6) yields $s^{ij} = 0$ which implies $s_{ij} = 0 = s_j^i$. Putting these values in (3.3), we get

$$[(c_1 + 2b^2) \alpha^2 - 3\beta^2] B^{ij} - \alpha^2 r_{00} (b^i y^j - b^j y^i) = 0. \quad (3.8)$$

The term in (3.8) which seemingly does not contain α^2 is $-3\beta^2 B^{ij}$. Hence we must have $hp(3) u_{(3)}^{ij}$,

satisfying $-3\beta^2 B^{ij} = \alpha^2 u_{(3)}^{ij}$. Hence we have $B^{ij} = \alpha^2 u^{ij}$, where we have put $u_{(3)}^{ij} = -3\beta^2 u^{ij}$ with

$hp(1) u^{ij}$. Thus (3.8) reduces to

$$[(c_1 + 2b^2) \alpha^2 - 3\beta^2] u^{ij} - r_{00} (b^i y^j - b^j y^i) = 0. \quad (3.9)$$

Transvecting (3.9) by $b_i y_j$ ($y_j = a_{ij} y^j$), we get

$$[(c_1 + 2b^2) \alpha^2 - 3\beta^2] u^{ij} b_i y_j = r_{00} (b^2 \alpha^2 - \beta^2).$$

Now if $[(c_1 + 2b^2) \alpha^2 - 3\beta^2]$ contains $(b^2 \alpha^2 - \beta^2)$, then there exists a scalar function $\lambda(x)$ such that $[(c_1 + 2b^2) \alpha^2 - 3\beta^2] = \lambda(x) (b^2 \alpha^2 - \beta^2)$, which gives $\lambda = 3$ and $b^2 = c_1$ for $\alpha^2 \not\equiv 0 \pmod{\beta}$. Thus for $b^2 \neq c_1$, $[(c_1 + 2b^2) \alpha^2 - 3\beta^2]$ is a factor of r_{00} . Hence there exists a function $h(x)$ such that $r_{00} = h(x) [(c_1 + 2b^2) \alpha^2 - 3\beta^2]$. Therefore we have $r_{ij} = h(x) [c_1 + 2b^2] a_{ij} - 3b_i b_j$. Since $\nabla_j b_i = r_{ij} + s_{ij}$, and $s_{ij} = 0$, we have

$$\nabla_j b_i = h(x) [c_1 + 2b^2] a_{ij} - 3b_i b_j. \quad (3.10)$$

Conversely if (3.10) holds, then from (3.1) it follows that $B^{ij} = h(x) \alpha^2 (b^i y^j - b^j y^i)$ which shows that B^{ij} is $hp(3)$. Hence F^n is a Douglas space.

Since we have the

Theorem (3.1) A Finsler space F^n with (α, β) -metric (2.1) for which $c_2 \neq 0$, $b^2 \neq c_1$ and $\alpha^2 \not\equiv 0 \pmod{\beta}$, is a Douglas space if and only if there exists a scalar function $h(x)$ such that (3.10) holds. In particular if $h(x) = 0$, then F^n is a Berwald space.

4. Finsler space with metric (2.2)

For the metric (2.2), we have

$$L_{\alpha} = \frac{c_1\beta + 2\alpha}{\beta}, \quad L_{\beta} = \frac{c_2\beta^2 - \alpha^2}{\beta^2}, \quad L_{\alpha\alpha} = \frac{2}{\beta}.$$

Therefore the value of C^* given in (1.2) becomes

$$C^* = \frac{\alpha}{2} \left[\frac{\beta r_{00} (c_1\beta + 2\alpha) - 2\alpha s_0 (c_2\beta^2 - \alpha^2)}{c_1\beta^3 + 2b^2\alpha^3} \right]$$

Also from (1.3), we have

$$\begin{aligned} B^{ij} &= \frac{\alpha(c_2\beta^2 - \alpha^2)}{\beta(c_1\beta + 2\alpha)} (s_0^i y^j - s_0^j y^i) \\ &\quad + \frac{\alpha^3 [\beta r_{00} (c_1\beta + 2\alpha) - 2\alpha s_0 (c_2\beta^2 - \alpha^2)]}{\beta(c_1\beta + 2\alpha)(c_1\beta^3 + 2b^2\alpha^3)} (b^i y^j - b^j y^i), \end{aligned} \quad (4.1)$$

which may be written as

$$\begin{aligned} &\beta(c_1^2\beta^4 + 2b^2c_1\alpha^3\beta + 2c_1\alpha\beta^3 + 4b^2\alpha^4) B^{ij} \\ &\quad - \alpha[c_1c_2\beta^5 + 2c_2b^2\alpha^3\beta^2 - c_1\alpha^2\beta^3 - 2b^2\alpha^5] (s_0^i y^j - s_0^j y^i) \\ &\quad - \alpha^3 [\beta r_{00} (c_1\beta + 2\alpha) - 2\alpha s_0 (c_2\beta^2 - \alpha^2)] (b^i y^j - b^j y^i) = 0. \end{aligned} \quad (4.2)$$

Since α is irrational in (y^i) , the equations (4.2) are divided into two equations as follows:

$$\begin{aligned} &\beta(c_1^2\beta^4 + 4b^2\alpha^4) B^{ij} - 2b^2\alpha^4 (c_2\beta^2 - \alpha^2) (s_0^i y^j - s_0^j y^i) \\ &\quad - 2\alpha^4 [\beta r_{00} - s_0 (c_2\beta^2 - \alpha^2)] (b^i y^j - b^j y^i) = 0. \end{aligned} \quad (4.3)$$

$$\text{And } 2(b^2\alpha^2 + \beta^2) B^{ij} - \beta(c_2\beta^2 - \alpha^2) (s_0^i y^j - s_0^j y^i) - r_{00}\alpha^2 (b^i y^j - b^j y^i) = 0. \quad (4.4)$$

Only the terms $c_1^2\beta^5 B^{ij}$ of (4.3) seemingly does not contain α^4 . Therefore there exists a $hp(4)_{v(4)}^{ij}$

such that $c_1^2\beta^5 B^{ij} = \alpha^4 v_{(4)}^{ij}$. Since $\alpha^2 \not\equiv 0 \pmod{\beta}$, we have $\beta B^{ij} = \alpha^4 v^{ij}(x)$, where v^{ij} is $hp(0)$ i.e. a

function of x^i only such that $v_{(4)}^{ij} = c_1^2\beta^4 v^{ij}$. Hence (4.3) is reduced to

$$\begin{aligned} &(c_1^2\beta^4 + 4b^2\alpha^4) v^{ij} - 2b^2 (c_2\beta^2 - \alpha^2) (s_0^i y^j - s_0^j y^i) \\ &\quad - 2[\beta r_{00} - s_0 (c_2\beta^2 - \alpha^2)] (b^i y^j - b^j y^i) = 0. \end{aligned} \quad (4.5)$$

The terms in (4.5) which seemingly does not contain β is

$$4b^2\alpha^4 v^{ij} + 2b^2\alpha^2 (s_0^i y^j - s_0^j y^i) - 2s_0\alpha^2 (b^i y^j - b^j y^i).$$

Hence we must have $hp(1)_{w^{ij}}$ such that the above is equal to $2\alpha^2\beta w^{ij}$. Hence

$$2b^2\alpha^2 v^{ij} + b^2 (s_0^i y^j - s_0^j y^i) - s_0 (b^i y^j - b^j y^i) = \beta w^{ij}. \quad (4.6)$$

By putting $w^{ij} = w_k^{ij}(x)y^k$, the above is written as

$$\begin{aligned} &4b^2 a_{hk} v^{ij} + b^2 [s_h^i \delta_k^j + s_k^i \delta_h^j - s_h^j \delta_k^i - s_k^j \delta_h^i] \\ &\quad - [(s_h \delta_k^j + s_k \delta_h^j) b^i - (s_h \delta_k^i + s_k \delta_h^i) b^j] = b_h w_k^{ij} + b_k w_h^{ij}. \end{aligned} \quad (4.7)$$

Contracting (4.7) by $j = k$, we get

$$4b^2 a_{hr} v^{ir} + n(b^2 s_h^i - b^i s_h) = b_h w_r^{ir} + b_r w_h^{ir}. \quad (4.8)$$

Next transvecting (4.7) by $b_j b^h$, we have

$$4b^2 b_k v^{ir} b_r + b^2 (b^2 s_k^i - s^i b_k - b^i s_k) = b^2 b_r w_k^{ir} + b_k b_r w_s^{ir} b^s. \quad (4.9)$$

Transvecting (4.9) by b^k , we get $4b^4 v^{ir} b_r - 2b^4 s^i = 2b^2 b_r w_s^{ir} b^s$, which gives

$$b_r w_s^{ir} b^s = b^2 (2v^{ir} b_r - s^i), \quad \text{provided } b^2 \neq 0. \quad (4.10)$$

Substituting the value of $b_r w_s^{ir} b^s$ from (4.10) in (4.9), we obtain

$$b_r w_k^{ir} = 2b_k v^{ir} b_r + b^2 s_k^i - b^i s_k.$$

Substituting the value of $b_r w_k^{ir}$ from (4.11) in (4.8), we have

$$b_h w_r^{ir} = 4b^2 a_{hr} v^{ir} - 2b_h v^{ir} b_r + (n-1)(b^2 s_h^i - b^i s_h). \quad (4.11)$$

If we put $w^i = \frac{1}{n-1}(w_r^{ir} + 2v^{ir} b_r)$, then equation (4.11) gives

$$b^2 s_h^i = w^i b_h + b^i s_h - \frac{4b^2}{n-1} a_{hr} v^{ir} \quad \text{or} \quad b^2 s_{ij} = b_i s_j + w_i b_j - \frac{4b^2}{n-1} v_{ij}, \quad \text{where } w_i = a_{ij} w^j \quad \text{and} \quad (4.12)$$

$v_{ij} = a_{ih} a_{jk} v^{hk}$. Since s_{ij} and v_{ij} are skew-symmetric tensors, we have $w_i = -s_i$ easily. Hence

$$s_{ij} = \frac{1}{b^2} (b_i s_j - b_j s_i) - \frac{4}{n-1} v_{ij}. \quad (4.13)$$

To determine r_{ij} we eliminate B^{ij} from equations (4.3) and (4.4) to obtain

$$C(s_0^i y^j - s_0^j y^i) + D(b^i y^j - b^j y^i) = 0, \quad (4.14)$$

$$\text{where } C = (c_2 \beta^2 - \alpha^2)(c_1 \beta^6 - 4b^4 \alpha^6)$$

$$\text{and } D = r_{00} \alpha^2 \beta^3 (c_1^2 \beta^2 - 4\alpha^2) + 4s_0 \alpha^4 (c_2 \beta^2 - \alpha^2)(b^2 \alpha^2 + \beta^2). \quad (4.15)$$

Contracting (4.14) by $b_i y_j$, we get $C s_0 \alpha^2 + D (b^2 \alpha^2 - \beta^2) = 0$, which after substituting the values of C and D gives $s_0(c_2 \beta^2 - \alpha^2)(c_1 \beta^6 - 4\alpha^2 \beta^4) + r_{00} \beta^3 (c_1^2 \beta^2 - 4\alpha^2)(b^2 \alpha^2 - \beta^2) = 0$.

The terms in (4.15) which seemingly does not contain α^2 is $c_1 c_2 \beta^8 s_0 - c_1^2 \beta^7 r_{00}$. Hence we must have

a function $u(x)$ such that it is equal to $c_1^2 \beta^7 \alpha^2 u(x)$. Therefore $r_{00} = \frac{c_2}{c_1} \beta s_0 - \alpha^2 u$. Hence

$$r_{ij} = \frac{c_2}{2c_1} (b_i s_j + b_j s_i) - u a_{ij} \quad (4.16)$$

Theorem (4.1) Let F^n be a Douglas space with (α, β) -metric (2.2) for which $b^2 \neq 0$ and $\alpha^2 \not\equiv 0 \pmod{\beta}$, then there exists a scalar function $u(x)$ and a tensor function $v_{ij}(x)$ such that $\nabla_j b_i (= r_{ij} + s_{ij})$ is given by (4.13) and (4.16).

5. Finsler space with metric (2.3)

For the metric (2.3), we have

$$L_\alpha = \frac{P_2}{(\alpha + \beta)^2}, \quad L_\beta = \frac{Q_2}{(\alpha + \beta)^2}, \quad L_{\alpha\alpha} = \frac{2c_0 \beta^2}{(\alpha + \beta)^3},$$

where

$$P_2 = c_1 \alpha^2 + 2c_1 \alpha \beta + (c_2 - c_3) \beta^2, \quad Q_2 = (c_2 - c_1) \alpha^2 + 2c_3 \alpha \beta + c_3 \beta^2, \quad \text{and } c_0 = c_1 - c_2 + c_3. \quad (5.1)$$

Therefore the value of C^* given in (1.2) becomes $C^* = \frac{\alpha(\alpha + \beta)(r_{00} P_2 - 2s_0 \alpha Q_2)}{2\beta R_3}$,

where

$$R_3 = (c_1 + 2c_0 b^2) \alpha^3 + 3c_1 \alpha^2 \beta + 3(c_2 - c_3) \alpha \beta^2 + (c_2 - c_3) \beta^3. \quad (5.2)$$

Also from (1.3), we have

$$B^{ij} = \frac{\alpha Q_2}{P_2} (s_0^i y^j - s_0^j y^i) + \frac{c_0 \alpha^3 (r_{00} P_2 - 2s_0 \alpha Q_2)}{P_2 R_3} (b^i y^j - b^j y^i), \quad (5.3)$$

which may be written as

$$P_2 R_3 B^{ij} - \alpha Q_2 R_3 (s_0^i y^j - s_0^j y^i) - c_0 \alpha^3 (r_{00} P_2 - 2\alpha s_0 Q_2) (b^i y^j - b^j y^i) = 0. \quad (5.4)$$

From (5.1) and (5.2) we can calculate $P_2 R_3$ and $Q_2 R_3$ as

$$P_2 R_3 = p_0 \alpha^5 + p_1 \alpha^4 \beta + p_2 \alpha^3 \beta^2 + p_3 \alpha^2 \beta^3 + p_4 \alpha \beta^4 + p_5 \beta^5,$$

$$Q_2 R_3 = k_0 \alpha^5 + k_1 \alpha^4 \beta + k_2 \alpha^3 \beta^2 + k_3 \alpha^2 \beta^3 + k_4 \alpha \beta^4 + k_5 \beta^5,$$

where

$$p_0 = c_1(c_1 + 2c_0 b^2), \quad p_1 = 2p_0 + 3c_1^2, \quad p_2 = (c_2 - c_3)(4c_1 + 2c_0 b^2) + 6c_1^2, \quad (5.7)$$

$$p_3 = 10c_1(c_2 - c_3), \quad p_4 = (c_2 - c_3)[2c_1 + 3(c_2 - c_3)], \quad p_5 = (c_2 - c_3)^2,$$

$$k_0 = (c_2 - c_1)(c_1 + 2c_0 b^2), \quad k_1 = 3c_1(c_2 - c_1) + 2c_3(c_1 + 2c_0 b^2),$$

$$k_2 = 3(c_2 - c_1)(c_2 - c_3) + 6c_1 c_3 + c_3(c_1 + 2c_0 b^2),$$

$$k_3 = (c_2 - c_3)(c_2 - c_1 + 6c_3) + 3c_1 c_3, \quad k_4 = 5c_3(c_2 - c_3), \quad k_5 = c_3(c_2 - c_3).$$

In view of (5.1), (5.5) and (5.6) the equation (5.4) may be written as

$$(p_0 \alpha^5 + p_1 \alpha^4 \beta + p_2 \alpha^3 \beta^2 + p_3 \alpha^2 \beta^3 + p_4 \alpha \beta^4 + p_5 \beta^5) B^{ij} \quad (5.8)$$

$$- \alpha (k_0 \alpha^5 + k_1 \alpha^4 \beta + k_2 \alpha^3 \beta^2 + k_3 \alpha^2 \beta^3 + k_4 \alpha \beta^4 + k_5 \beta^5) (s_0^i y^j - s_0^j y^i)$$

$$- c_0 \alpha^3 [r_{00} \{c_1 \alpha^2 + 2c_1 \alpha \beta + (c_2 - c_3) \beta^2\} - 2\alpha s_0 \{(c_2 - c_1) \alpha^2$$

$$+ 2c_3 \alpha \beta + c_3 \beta^2\}] (b^i y^j - b^j y^i) = 0.$$

Since α is irrational in (y^j) , the equations (5.8) are divided into two equations as follows:

$$\beta(p_1 \alpha^4 + p_3 \alpha^2 \beta^2 + p_5 \beta^4) B^{ij} - \alpha^2 (k_0 \alpha^4 + k_2 \alpha^2 \beta^2 + k_4 \beta^4) (s_0^i y^j - s_0^j y^i) \quad (5.9)$$

$$- 2c_0 \alpha^4 [c_1 \beta r_{00} - s_0 \{(c_2 - c_1) \alpha^2 + c_3 \beta^2\}] (b^i y^j - b^j y^i) = 0.$$

$$\text{and } (p_0 \alpha^4 + p_2 \alpha^2 \beta^2 + p_4 \beta^4) B^{ij} - \beta (k_1 \alpha^4 + k_3 \alpha^2 \beta^2 + k_5 \beta^4) (s_0^i y^j - s_0^j y^i) \quad (5.10)$$

$$- c_0 \alpha^2 [r_{00} \{c_1 \alpha^2 + (c_2 - c_3) \beta^2\} - 4c_3 s_0 \alpha^2 \beta] (b^i y^j - b^j y^i) = 0.$$

Only the term $p_5 \beta^5 B^{ij}$ of (5.9) seemingly does not contain α^2 . Therefore there exists a $hp(6) k_{(6)}^{ij}$

such that it is equal to $\alpha^2 k_{(6)}^{ij}$. Hence we have $B^{ij} = \alpha^2 k_{(6)}^{ij}$, where we have put $k_{(6)}^{ij} = p_5 \beta^5 k^{ij}$ with

$hp(1) k^{ij}$. Hence (5.9) reduces to

$$\beta(p_1 \alpha^4 + p_3 \alpha^2 \beta^2 + p_5 \beta^4) k^{ij} - (k_0 \alpha^4 + k_2 \alpha^2 \beta^2 + k_4 \beta^4) (s_0^i y^j - s_0^j y^i) \quad (5.11)$$

$$- 2c_0 \alpha^2 [c_1 \beta r_{00} - s_0 \{(c_2 - c_1) \alpha^2 + c_3 \beta^2\}] (b^i y^j - b^j y^i) = 0.$$

The terms in (5.11) which seemingly does not contain β are

$$- k_0 \alpha^4 (s_0^i y^j - s_0^j y^i) + 2c_0 (c_2 - c_1) s_0 \alpha^4 (b^i y^j - b^j y^i).$$

Hence we must have $hp(1) m^{ij}$ such that above is equal to $\alpha^4 \beta m^{ij}$. Therefore, we have

$$- k_0 (s_0^i y^j - s_0^j y^i) + 2c_0 (c_2 - c_1) s_0 (b^i y^j - b^j y^i) = \beta m^{ij}.$$

By putting $m^{ij} = m_{(x)}^{ij} y^k$, equation (5.12) may be written as

$$-k_0 [s_h^i \delta_k^j + s_k^i \delta_h^j - s_h^j \delta_k^i - s_k^j \delta_h^i] + 2c_0(c_2 - c_1) \quad (5.13)$$

$$[(s_h \delta_k^j + s_k \delta_h^j) b^i - (s_h \delta_k^i + s_k \delta_h^i) b^j] = b_h m_k^{ij} + b_k m_h^{ij}$$

Contracting (5.13) by $j = k$, we get

$$n[-k_0 s_h^i + 2c_0(c_2 - c_1) s_h^i] b^i = b_h m_r^{ir} + b_r m_h^{ir}. \quad (5.14)$$

Transvecting (5.13) by $b_j b^h$, we obtain

$$-k_0(b^2 s_k^i - s^i b_k - b^i s_k) = b^2 b_r m_k^{ir} + b_k b_r m_s^{ir} b^s. \quad (5.15)$$

Further transvecting (5.15) by b^k , we get $b_r m_s^{ir} b^s = k_0 s^i$, provided $b^2 \neq 0$. Thus (5.15) gives

$$b^2 b_r m_k^{ir} = k_0 (b^i s_k - b^2 s_k^i). \quad (5.16)$$

$$\text{Then (5.14) is rewritten as } b_h m_r^{ir} = -k_0(n-1)s_h^i + \mu b^i s_h \quad (5.17)$$

where $\mu = 2nc_0(c_2 - c_1) - \frac{k_0}{b^2}$. If we put $m^i = \mu m_r^{ir}$, then equation (5.17) give

$$k_0(n-1)s_h^i = \mu (b^i s_h - m^i b_h) \text{ or equivalently } s_{ij} = \frac{\mu}{k_0(n-1)}(b_i s_j - b_j m_i).$$

$$\text{Since } s_{ij} \text{ is skew symmetric, we have } m_i = s_i. \text{ Therefore } s_{ij} = \frac{\lambda}{k_0(n-1)}(b_i s_j - b_j s_i). \quad (5.18)$$

Hence we can state the following

Theorem (5.1) Let F^n be a Douglas space with (α, β) -metric (2.3) for which $b^2 \neq 0$ and $\alpha^2 \not\equiv 0 \pmod{\beta}$, then $(\nabla_j b_i - \nabla_i b_j) = \frac{\mu}{k_0(n-1)}(b_i s_j - b_j s_i)$, where $\mu = 2nc_0(c_2 - c_1) - \frac{k_0}{b^2}$, $c_0 = c_1 - c_2 + c_3$, and $k_0 = (c_2 - c_1)(c_1 + 2c_0 b^2)$.

References

1. Aikou, T., Hashiguchi, M. and Yamaguchi, K. (1990). On Matsumoto's Finsler space with time measure. *Rep. Fac. Sci. Kagoshima Univ. (Math. Phys. Chem.)*, 23, 1-12.
2. Antonelli, P. L., Ingarden, R. S. and Matsumoto, M. (1993). The theory of sprays and Finsler spaces with applications in physics and biology, *Kluwer Acad. Publ. Dordrecht*.
3. Bacso, S. and Matsumoto, M. (1997). On Finsler spaces of Douglas type. A generalization of the notion of Berwald space, *Publ. Math. Debrecen*, 51: 385-406.
4. Hashiguchi, M., Hojo, S. and Matsumoto, M. (1996). Landsberg spaces of dimension two with (α, β) -metric. *Tensor, N. S.* 57: 145-153.
5. Kikuchi, S. (1979). On the condition that a space with (α, β) -metric be locally Minkowskian, *Tensor, N. S.*, 33: 242-246.
6. Kitayama, M., Azuma, M. and Matsumoto, M. (1995). On Finsler spaces with (α, β) -metric. Regularity, geodesics and main scalars. *J. Hokkaido Univ. Education (sect. II A)* 46 : 1-10.
7. Matsumoto, M. (1998). Finsler spaces with (α, β) -metric of Douglas type. *Tensor, N. S.* 60: 123-134.
8. Matsumoto, M. (1992). Theory of Finsler spaces with (α, β) -metric, *Rep. on Math. Phys.*, 31: 43-83.
9. Matsumoto, M. (1999). The Berwald connection of a Finsler space with an (α, β) -metric, *Tensor, N. S.*, 50:18-21.

Received on 10.10.2012 and accepted on 12.03.2013